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protected void onCreate(Bundle arg3) {
super.onCreate(arg3);
this.setContentView(@x7Fe40018) ;
this.findViewById(8x7FOBBO76).setOnClicklistener(new View3OnClicklistener((({Context)this)) {
public void onClick(view arg5) {
if(Mainfktivity.a(this.a.findViewById(8x7FOBOOTS).getText().taString()).booleanValue()) {
Toast.makeText(this.a, "You are right!™, 1).show();

}
else {
Toast.makeText(this.a, "You are wrong! Bye~", 1).show();
new Timer().schedule(new TimerTask() {
public wvoid run() {
System.exit(1);

}s 2000);
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static Boolean a(String argl) {]
return MainActivity.b(argl);
}
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private static Boolean b(String arg8) {
Boolean vO_1;
int veo 0;
if(!arg8.startsWith( )) {
vo_1 Boolean.valueOf(false);
)i
else if(!arg8.endsWith( )) {
vo_ 1 Boolean.valueOf(false);
)i
else {
String v2 arg8.substring(5, arg8.length() 1);
b v4 new b(Integer.valueOf(2));
a v5 new a(Integer.valueOf(3));
StringBuilder v3 new StringBuilder();
int vl 0;
while(ve v2.length()) {
v3.append(MainActivity.a(v2.charAt(ve) , V4, Vv5));
Integer v6 Integer.valueOf(v4.b().intValue() 25);
if(v6.intValue() vl v6.intValue() 1) {

vl;

Boolean.valueOf(v3.toString().equals(

return vo_1;
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public class a {
public static Arraylist a;
static String b;
Integer[] c;
static Integer d;

static {
a.a = new ArraylList();
a.b
a.d = Integer.valueOf(9);

public a(Integer arg8) {

super();

this.c new Integer[]{Integer.valueOf(7), Integer.valueOf(14), Integer.valueOf(16), Integer.valueOf(21)
, Integer.valueOf(4), Integer.valueOf(24), Integer.valueOf(25), Integer.valueOf(20), Integer.valueOf(5), Integen
.valueOf(15), Integer.valueOf(9), Integer.valueOf(17), Integer.valueOf(6), Integer.valueOf(13), Integer.valueOf(
3), Integer.valueOf(18), Integer.valueOf(12), Integer.valueOf(10), Integer.valueOf(19), Integer.valueOf(0), Inte
ger.valueOf(22), Integer.valueOf(2), Integer.valueOf(11), Integer.valueOf(23), Integer.valueOf(1), Integer.value
0f(8)};

int ve;

for(ve = arg8.intValue(); vO@ < this.c.length; vo) {

a.a.add(this.c[v@]);




for(ve = 0; vO arg8.intValue(); vo) {
a.a.add(this.c[vO]);

public char a(Integer arg5) {
char vo_1;
int ve 0;
Integer vl = Integer.valueOf(0);
if(arg5.intValue() 10) {
a.a();
vo_ 1 .charAt(0);
)i
else {
while(ve a.a.size() 1) {
if(a.a.get(vo) arg5) {
vl Integer.valueOf(vO);

a.a();
vo_1 a.b.charAt(vl.intValue());

return ve_1;

public static void a() {
a.d Integer.valueOf(a.d.intValue()
if(a.d.intValue() 25) {
int ve a.a.get(0).intValue();
a.a.remove(9);
a.a.add(Integer.valueOf(vO));
a.d Integer.valueOf(0);

bJsflaZsdEAR —3, H/EV2RZTE this.c = new Integer[]{Integer.valueOf(8), Integer.valueOf(25),

Integer.valueOf(17), Integer.valueOf(23), Integer.valueOf(7), Integer.valueOf(22), Integer.valueOf(1),
Integer.valueOf(16), Integer.valueOf(6), Integer.valueOf(9), Integer.valueOf(21), Integer.valueOf(0),
Integer.valueOf(15), Integer.valueOf(5), Integer.valueOf(10), Integer.valueOf(18), Integer.valueOf(2),
Integer.valueOf(24), Integer.valueOf(4), Integer.valueOf(11), Integer.valueOf(3), Integer.valueOf(14),
Integer.valueOf(19), Integer.valueOf(12), Integer.valueOf(20), Integer.valueOf(13)}; FHHIZ 3]

import java.util.Arraylist;

public class b {
public static Arraylist a;
static String b;
Integer[] c;
static Integer d;




static {
b.a new ArraylList();
b.b
b.d Integer.valueOf(9);

public b(Integer arg9) {

super();

this.c new Integer[]{Integer.valueOf(8), Integer.valueOf(25), Integer.valueOf(17), Integer.valueOf(23)
, Integer.valueOf(7), Integer.valueOf(22), Integer.valueOf(1l), Integer.valueOf(16), Integer.valueOf(6), Integer.
valueOf(9), Integer.valueOf(21), Integer.valueOf(®), Integer.valueOf(15), Integer.valueOf(5), Integer.valueOf(10
), Integer.valueOf(18), Integer.valueOf(2), Integer.valueOf(24), Integer.valueOf(4), Integer.valueOf(11l), Intege
r.valueOf(3), Integer.valueOf(14), Integer.valueOf(19), Integer.valueOf(12), Integer.valueOf(20), Integer.valueQ
F(13)};

int ve;

for(ve arg9.intValue(); v@ < this.c.length; vo) {

b.a.add(this.c[ve]);

for(ve = 0; vo arg9.intValue(); vo) {
b.a.add(this.c[ve]);

public Integer a(String arg5) {
int veo 0;
Integer vl = Integer.valueOf(0);
if(b.b.contains(arg5.toLowerCase())) {

Integer v2 Integer.valueOf(b.b.index0f(arg5));
while(ve < b.a.size() 1) {
if(b.a.get(vo) v2) {
vl Integer.valueOf(vo);

}

else {
if(arg5.contains( )) {
vl = Integer.valueOf(-10);
goto label 24;

vl = Integer.valueOf(-1);

label 24
b.a();
return vl;

public static void a() {
int v@ = b.a.get(0).intValue();
a.remove(9);
.a.add(Integer.valueOf(v0));
.b = b.b b.b.charAt(0);
b = b.b.substring(1, 27);
d Integer.valueOf(b.d.intValue()




public Integer b() {

return b.d;

a=[17, 23, 7, 22, 1, 16, 6, 9, 21, @, 15, 5, 10, 18, 2, 24, 4, 11, 3, 14, 19, 12, 20, 13, 8, 25]
b= [21, 4, 24, 25, 20, 5, 15, 9, 17, 6, 13, 3, 18, 12, 1@, 19, 0, 22, 2, 11, 23, 1, 8, 7, 14, 16]

re.append(b[s.index(i)])
print(re)

d=a[i]
flag+=s[d]
a.append(a[@])
a.remove(al[@])
s+=s[0]
s=s[1:]
print(flag)
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